R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDi - DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL(4759-4760\C - Drawings\TX-4759.4760.dwg, TX-4760

POWERED Bvlg
]

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass
Single Door w/ Sidelites

CONTINUOUS HEAD & SILL FRAME SYSTEM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fibergiass Door system described herein complies with the 2018
interational Residential Code {IRC], Sections R301 & Ré09 and the 2018
intfemational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

" 4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

~Nlovjorj N

113" MAX. OVERALL
FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT {INSWING)

97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

+40.0

-45.0

OUTSWING +40.0

-40.0

i
N
Qi
‘n-N
™ e 0
MES w &
N
wu ¢MB B
W £ N &
.fo
cg gg
(] [+ Bt
v sa §
€k -ty X
> 4 GO 0
3 6 ©
3>m
%05
o®n [
5‘ Oﬂgo_
g o] %gzh-
e =My O
g 24550
© 30.4:%
& Bax g
= )
o
-
c
Fy
E g
3 e§
o
0
a

CERTIFICATE OF REGISTRATION # F—11852

%)
=
25
ﬂq
o
3y
<
x vy =g
) X <©
S =
b={ My
Ly Wi
al W
< ?('%
s 1823
oQ - tLLl
S e X
& < o
a. o
Ol I
Ll |
W
Q
S
s
O
S|
Elo]
oD |n
X z
o|®f O
S8 2
(B I
el
S|
Sl
IR
85
<
(s}
o |
N IS
- lo
z
paTE: 12/07/17
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4760

SHEET ] oF 7

@ 2017 R.W. BUILDING DONSBULTANTS ING.



5 ~1—1.75 0\}?%%“}}“ . ' zg
EXTERIOR 402" TOP RAIL L S50t 09y, W N o
(COMP) ForeiZi ey, K2 o By
. Fosm 2y 2l S EX o b
].2 ~ Y," H * . \3’ (‘ o £ 0 e
5 Tiew WY QN ]S . £
gui, 0IR eedN |du gB &Y
’ 7 —r— I ERD S g go3 ;::
= 8'3 ¢ o, 1z .': : 5 o ® =z
= : e Ky ".O 13 i v e
2 X £ DOOR SKIN ° e g1 N 50 B3 %%
1 /s ; J \ WS A5 SR 2o% Lk
‘ L0, L = L % Meoecd™ § od; &g
3 Z 8 31:.
5§ § .2 .9
HINGE STILE INTERIOR \ 2 265 g
(WOOD) LATCH STILE (LVL) R
2 § o
1"\ HORIZONTAL CROSS SECTION P o %g
36" MAX. 2/ E “
PANELWIDTH ~ 8
23.75" MAX
] D.LO.WIDH
? 3.
==
sk
<
/ // S |y e
/ " ==
m y // o . 9N16'GLASS 1/4 2 1% 5§
W f = BITE i3 g
’ EXTERIOR ———— 11/16" THK. GLASS " 2 §°B
N /i 5 ¥ S
= 5
3 1/8" TEMPERED 8 &
o]
- T —_ " olass EXTERIOR INTERIOR g %
2 5 L Se————— ARSPACE T
g T 1/8" TEMPERED 5 o
& [T%]
Z 5 i GLASS "
< 3 X s ALUMINUM SPACER $IS
% ) INTERIOR B
3 = =Y S Q'SO SEALANT g3
= = S
4 & S 12
R } 1) GLAZING DETAIL wlo) 5
O
N
S| |
// SEE HARDWARE 3 L.;(J
TABLE o5
‘ //’/ ' a8
FOAM CORE || >
~p NEn
2]
. (S
-t —
2 S e
DOOR LOCK HARDWARE TABLE o 12,/07,17
THERMA TRU - Fiush Glazed MANUFACTURER MODEL BOTTOM RAIL & , scae N.T.S.
Door Panel ewikser | KNOB: SIGNATURE SERIES (COMP.) — owe. B:  JK
(fiberglass) DEADBOLT:  SIGNATURE SERIES (980) cHk. BY:  LFS
2 "\ VERTICAL CROSS SECTION PRAWING NO-
DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS) : @ c TX—4760
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) —

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL{4759-4760\C - Drawings\TX-4759.4760.dwg, 2.4

© 2017 R.W. BuUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL(4759-4760\C - Drawings\TX-4759.4760.dwg, 3.4

EXTERIOR

402"

[

.y ’ >
\§ gr

e

1.2"
i 7
HINGE STILE
[WOOD)
36" MAX.
PANEL WIDTH
e 23.75" MAX -
D.L.O. WIDTH
D

(10
\3/

95.25" MAX. PANEL HEIGHT
79" MAX D.L.O. HEIGHT

/
v

THERMA TRU - Flush Glazed
Sidelite Panel
{fiberglass)

SIDELITE SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

3/

EXTERIOR

INTERIOR

LATCH STILE (LVL)

9/16" GLASS

BITE
11/16" THK. GLASS

1/8" TEMPERED
" Gl

J———— AIRSPACE

T 1/8" TEMPERED
GLASS

ALUMINUM SPACER
Q'SO SEALANT

GLAZING DETAIL

TOP RAIL

(comp) ~[

DOOR SKIN

0.93" ‘—L‘-—*"!

//

1/
/7

EXTERIOR

/4

INTERIOR

FOAM CORE

~p

BOTTOM RAIL — ¢

1.75"

0.94"

(COMP.)

/" 2"\ VERTICAL CROSS SECTION

W,
8 o
¢ )
Jo o
ES e d
5 B £
Ay OB ©
.a Z Z
u __il\ ]
o
c Lo
] goai 3
v (003 o)
g\ TN =
> Jdg50© @0
25>m #
7
= B
Z 0m o
-} 82 14
@ g o
O Xz
° o L.
2 émo °
] c
= ~ o
g 50p2 4
& Doaa g
p
8 §
[
o e;
E g
o J
Q
o
o

CERTIFICATE OF REGISTRATION # F—11852

3/

)
3=
N
—
=3
[
b
& ., D&
) > ZWd
I Bl <V
I
Ll
Lef
0| 5=
o N
x Qqn
o —
2 ol o2
S &
o <C
a o
o
Ll i
Ly
o
o
JlO
Q
8l
Elo]
Sl@l |n
A Z
0l®f O
8| (2
Clol @
HEl
@
el
=1 <C
£
815
<
[¢)]
> |
NS
1o
Z
DATE: 12/07 /17
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4760

SHEET 3 oF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-954 Glazed Therma-Tru FG door OXO {LK, DB) 36 in SL(4759-4760)\C - Drawings\TX-4759.4760.dwg, 44

5 5 S5 .9
)/ o tiB 88, Bo
EXURES IO L
P b w10 Gu JM 87
g:%i w& E s e
/ / : Tult SR
//// Y Va 20% iz 6 g 0@ §Z
/ ; / w10 BH 223 65
Q¥gn., 0 > Sspe 9k
8332‘(‘ e § >mn QE
BACK-TO-BACK JAMBS: Uy % Zod i
\l Y, S (4N 5) Fusionframe” "FusionFrame" (1 OR 2-PIECE) My & S el
4 5 ) > o Z .
\S NS/ MULLION B £8, by
a = a3 0
] N g ads £
(@& D) INTERIOR sox2/2P |3 X B
0 0] WOODSCREW  |E o3 g E
O X O #8 X 2-1/2" FH COURSE 0 () | ENDURA WEATHERSTRIP (SEE NOTE 2) : ©
THREAD DRYWALL SCREW O O (QEBD/PE 650) 8
e (SEE NOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
2 (QEBD/PE 650) L
.
(0] 4
4 \x x )
- =
@ Z » ~ 8 2
~ z g w59
~ 3 2 > gc“ia'
mi
4/// 4/// 4// / & < é %Q
! ! ! #10X 3" PFH Mol Tx
SIDELITE PANEL N HEX2UZPRH poomacntn | 2 <78
#8 X 2-1/2" PFH WOOD SCREW 8 I SMS DOOR PANEL LATCH WOODSCREW  (seeNoTET) |3 ©
q STRIKE PLATE o &
4 b #8 X 3/4" PFH SMS 4 HINGE EXTERIOR 2 <
\ <5> (3N (Y2 @ (3 HORIZONTAL CROSS SECTION @ggm_zongm CROSS SECTION ol b
Qutswing shown - Inswing also approved uiswing shown - Inswing aiso approve
CORNER PADS 6/ \s N8/ 4/ o 'ng diso app w
(TYP) ELEVATION i
OXO SHOWN (XO/OX SIMILAR) £3/8" FATBOY 43/8" FATBOY 2l
- 1.5 ] -— 1.5 —— PINE MULLION PINE MULLION 215
’ @
) , \ INTERIOR \ CE 2
; \ WOOD — #8 X 2-1/2" FH COURSE 2@ O
\ #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW ] N %
\ THREAD DRYWALL SCREW (QEBD/PE 650] (SEE NOTE 1) ol &
COMPQIITE (SEENOTE 1) DOOR PANEL ENDURA WEATHERSTRIP SIDELITE PANEL g
N _ (QEBD/PE 650) : / NI
in :‘e \ g:-:é . ' CQ) %
S| N : e A :
'\ = N L N g =
- L] 'w'“ﬁ'f""" \\\C\ N~ S 2| =
J O / \ \ 1e
| \G DJ
SIDELITE PANEL #8 X 1" PEH SMS #8 X 2-1/2" PFH WOOD SCREW baTe: 12/07/17
2.5" 25" #8 X 2-1/2" PFH WOOD scmzw DOOR PANEL SCALE:  N.T.S.
DWG. BY: JK
. ’ STRIKE PLATE
FATBOY MULLION MULLION #8 X 3/4" PFH SMS 4" HINGE EXTERIOR ow o LFS
NOTES PINE ‘Fusionfrome (1" HORIZONTAL CROSS SECTION {2\ HORIZONTAL CROSS SECTION 4760

1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill (4 total).
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total).

W Outswing shown - Inswing also approved

w Outswing shown - Inswing also approved

SHEET 4 oF 7

© 2017 R.W. BUILDING CONSULTANTS INGC.



2X FRAMING STy o
2X FRAMING 2X FRAMING (G >= 0.42) Farint oy .5 w
- (G >=0.42) : —] Lol W - S r8 o o
- [G>=0.42) — — PAYEREY Ex o uwo
— — ™S g il £* 8 z?
™ - i h g hgioid 4y gh g
‘114 \ T - o EXT. SHEATHING §\114 gg’«%:& g Wl = If{;’ g:—z
Fllig by L 2 .'- 3 E‘-— < o
X1, SHEATI(NG | 3 \ DRYWALL e T FXT SHEATHING 1 A ™ ?;“3,"-., 51N §§ % 8 § 2z
\ ' £ DRYWALL \ e N 1 | PRWALL . 12 3 Zg¢ gk
eliie LD : i # ,‘7-11: 11111’;-\\"’-:\"\3} o 8 g o mg
| #10x2:1/2"PrH (TN #10X2-1/2" PFH ; e s gzf B
L] WOOD SCREW L ] " WOOD SCREW s 3 28 s N
] e ¢iiid T o 3 . &
1/4' MAX. : T, | 2 d4% g
SHIM SPACE 1/4' MAX. - ' 1 i ) £ B®eof gk
RN SHIM SPACE ™| .- A #10X 3" PFH - S g8
¥ T o ¥ = e WOOD SCREW £ gg
SHE SaE 1/4' MAX. ! X i
Q
‘ I SHIM SPACE = 1000 Ea‘] F
DOOR PANEL
DOOR PANEL \ ? SIDELITE PANEL ~_ \\ ? Sl .
\ HEAD: "FusionFrame" (1-PIECE]) &
HEAD: PINE . HEAD: PINE 5
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP 2
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW &
(QEBD/PE 650) <
(QEBD/PE 650) (SEENOTE 1) X T 1.8
I o I 9
EXTERIOR N TEROR INTERIOR / EXTERIOR EXTERIOR INTERIOR - = |98
EATERIVR LALLANISAN oo . o 2
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION m VERHCAL CRO.}'S SECTION SPacmg for sidelite screws: . 2 S
\SJ Outswing shown - inswing also approved w Inswing shown - Qutswing also approved w Outswing shown - inswing also approved &' from each end (2 total). G x §
S g
0. Q.
£l s
Lot
174" MAX. S
SHIM SPACE 1/4' MAX.  #10X 2-1/2" PFH %[0
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW z ﬁé
JAMB: PINE e " =N
0.75" 0.75" 0.75" DRYWALL JAMB: "FusionFrame DRYWALL oo
| ] \ / / (1 OR 2-PIECE]) / S 2
[ — A INTERIOR \ | olw| B
COMPOSITE 2 : ol 1@
\ SNAP-ON #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE § =
CAP THREAD DRYWALL SCREW THREAD DRYWALL SCREW I3
: : \ - (SEENOTE 1) v ' ' (SEE NOTE 1) ' ‘ 3|5
i AN \ :
= 2X FRAMING 2X FRAMING NEE
/ . LVL Z ({G>=0.42) (G >=0.42) =
D g
- lo
0 -4
Dl e e oATE: 12,/07/17
_—_} 1.25u ]_¢_~> ] 25" e " SCALE: N‘ T,S.
' e SIDELITE PANEL SIDELITE PANEL pwe. B¢ JK
JAMB / HEAD JAMB / HEAD JAMB EXT. SHEATHING EXTERIOR EXT. SHEATHING g::ng _ LFS
PINE “Fusionframe” F”;'ﬂggg’é“e /“4 "\ HORIZONTAL CROSS SECTION /5 "\ HORIZONTAL CROSS SECTION TX—4760
(1-PIECE) (2- ) \y Outswing shown - Inswing also approved W Outswing shown - Inswing also approved o 5 o 7

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL(4759-4760)\C - Drawings\TX-4759.4760.dwg, 54

© 2017 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL(4759-4760)\C - Drawings\TX-4759.4760.dwg, 6.4

ENDURA WEATHERSTRIP

— - A\Y
7 ENDURA DOOR /’(
DOOR DOOR SWEEP PANEL N

PANEL \

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4"' X 2-3/4" ELCO OR ITW CONCRETE SCREW

/3" VERTICAL CROSS SECTION

%

NOTE:
Spacing for sidelite screws:
¢" from each end (2 total).

7“1\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD

DRYWALL SCREW N I RS
(SEENOTE 1) NN

Y,
INTERIOR XTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/“ 4\ VERTICAL CROSS SECTION
w Inswing configuration

b
\

2
[
1 | 4.56" |
T\ INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN
! 456" !
5"} INSWING ARTICULATING THRESHOLD 7} INSWING ARTICULATING THRESHOLD
ZACL4565 ZAC4565FN

| 456" 1
17} QUISWING THRESHOLD
10BL4565

—1 1.49"

w Inswing Articulating Threshold

SIDELITE ~
PANEL \

77

#8 X 2.5 COURSE THREAD — 12 g@;
DRYWALL SCREW 7 G -
v ¢/ //4 v/
EXTERIOR \ m

#10 X 3" PFH WOOD SCREW OR
1/4" X 3-1/4" ELCO OR TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
\y Outswing configuration

b

| 456" | , 456" .
3" INSWING ADJUSTABLE THRESHOLD 2"} INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN

[ 456" | [ 456" |
g )INSWING ARTICULATING THRESHOLD 3" INSWING ARTICULATING THRESHOLD
TACLAA4565 ZACAAASG5FN

&
~
P 4.56 ' b 456" !
12) QUISWING THRESHOLD 13)-QUISWING THRESHOLD
ZOB4565RDS

ZOB4565FN

\U Outswing Bump Threshold

-

456" !

5 INSWING ADJUSTABLE THRESHOLD
ZAI4565RDS

P

—=i 1.34"

].6" '

] 456 |
10)/NSWING ARTICULATING THRESHOLD
ZIAC4565RDS

u,
0w
F g
eed
Yo
Ex 2
£* B
(nh.j [54
« 0 ~
[T
g9
| ~4
3§ 8 a
< T
> R
>,
om
N
~N
x
2]
1]
[o]
0.

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o
S 2
o @)
< °] =25
e ul., O
D Ul =En
S Jla S
Led %5 > W)
wj »v o}
o] X
D« G
. e
'5 o
3 o
o E
x <
a. Q.
2 Ix
L
W
o
o
Ko
&)
8|
£l
Slal |{»n
A pd
o|® O
58] 12
clo| @
59| |z
Sl
Lol
o8
35
<
[+)]
> |1
NS
I lo
b4
DATE: 12/07 /17
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4760

SHEET 6 ofF 7

© 2017 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-954 Glazed Therma-Tru FG door OXO (LK, DB) 36 in SL{4759-4760)\C - Drawings\TX-4759.4760.dwg, 7.4

s3> HEAD ANCHORS: 2X FRAMING HEAD ANCHORS: oy 4
S & #10 X 2-1/2" WOOD SCREW (PINE JAMB) (BY OTHERS, TYP.) #10 X 2-1/2" WOOD SCREW [PINE JAMB) :;2 w N, 23 o,
B #10 X 3" WOOD SCREW (1-PIECE JAMB) #10X 3' WOOD SCREW (1-PIECE JAMB) | &F\x" (2} Ex 9 u%
50 £(TYP) —mf = SEE DETALL 1 ¢ T fu o8 ZCT
. * ) \ ' R—— -‘—1——— ;" :‘ E * ]
5 ¥ vp) ﬂ 2" (TYP.) ) el = 4 [TYP) (TYP.) ~2'(Tvp) ol £(TYP) $'u.g,¢h§{ : oo 2 i 21
4 4" (TYP.) —— goi g 2 =
i LT me 4 N L #5155
= 7 1 =, : = =
T 1 S ] T 1 T I ?"*’1?5"‘»-..'2 57 238 gk
- - - T Uy X xi o b
} ED\ T f zh"z‘i;\x‘\-’f" & § § .: §g
— - o oxz %
SEE HINGE & & £ 592 0%
DETAIL 1 = # = g 592 %%
- - L) & o
t E
{ 5 B \ g gﬁ
T & y £43 SEE STRIKE E K B8
FRAME =0 PLATE DETAIL 8
. FOL )]
s N ) —] X o) 5 o X o) 8
Oy B A
g = SEE HINGE AU ’ -
DETAIL 2 o
Ly i :
‘ <
| JAMB ANCHORS: s _ I & o S
#10 X 2-1/2" WOOD SCREW in S a2
! - (PINE/2-PIECE JAMB) = & it oS W
SEE DETAIL 1 #10 X 3" WOOD SCREW SEE DETAIL 1 i 8 2
ae U (TYP.) (1-PIECE JAMB) (TYP.) » 8 5 < E
O s o
. — - — - — [} —
E?f LML 1L I I L1 LM 1 g g
§ % L SILL ANCHORS: % 4" (TYP.) 41 S SILL ANCHORS: STRIKE JAMB g %
HINGE JAMB 4" (TYP.) —=— #10 X 2-1/2" PFH WOOD SCREW #10X2-1/2" PFH WOOD SCREW w
FLOOR SUBSTRATE MATERIAL 1/4'X 2-3/4" ELCO OR 174" X 2-3/4" ELCO OR NS
CONCRETE (MIN. 3000 PSl)  FRAME ANCHORING ITW CONCRETE SCREW FRAME ANCHORING ITW CONCRETE SCREW ~lo
WOOD (G >=0.42) XO/OX OXO S|g
Qo
JAMB NOTES: e #8X 2-1/2" PFH WS °P 2
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. / EElE
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. raun EIR %
-® Lile L
INTEGRAL MULLION NOTES: #8X 1"PFH WS éo 1l = #8x3/4' PFH W5 sio |
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame” BACK-TO-BACK e [je = A Bl
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. \ 4" X 4" HINGE 5 §
CONCRETE ANCHOR NOTES: ‘ \ § =)
1. Concrete anchor locations at the comers may be adjusted to maintain the min. >
edge distance fo mortar joints. #8 X 2-1/2" COURSE HINGE DETAIL 1 <
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo THREAD g 2
maintain the min. edge distance to mortar joints, additional concrete anchors DRYWALL SCREW = 2
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ‘ \ DEADBOLT SECURITY \3\ P #8X 2-1/2" PFH WS S
hor table: M =
| STRIKE PLATE
#10 X 3" PFH WS ~==— o | oTE: 12,/07,/17
" —® HI* scAE:  N.T.S.
48X 2.1/2" PFH WS | #8 X 1" PFH wsé:. 1, == #8 x 3/4' PR Ws T
S » 1} _<“. " " . .
mw " " 1-1/2" & LATCH STRIKE 1 4" X 4" HINGE PP
TAPCON 1/4 1-3/4 -1/ DETAIL 1 \ PLATE \1 DRAWING NO.:
ELCO " . . " Integral mullion attachment TX—47860
ULTRACON®|  1/4 1-3/4 ! 4 - (@ head &sil) STRIKE PLATE DETAIL HINGE DETAIL 2 —

@ 2017 R.W. BULLDING CONSULTANTS INGC.




